
 

 

 

25,13 + 412 = 437,13 

691 + 3,955 = 694,955 

45 + 0,54  = 45,54 

 

37,6 + 9,35 =46,95 

100,54 + 12,84 =113,38 

3,65 + 475,2 = 478,85 

 

26,2 + 15 + 32,01 =73,21 

39 + 39,3 + 3,93 =82,23 

15,15 + 1,515 + 151,5 =168,165 

 

 

 

 

  2 5, 1 3   6 9 1    

+ 4 1 2    +   3, 9 5 5 

= 4 3 7, 1 3  = 6 9 4, 9 5 5 

              

  4 5      3 7, 6   

 +  0, 5 4   +  9, 3 5  

 = 4 5, 5 4   = 4 6, 9 5  

              

 1 0 0, 5 4     3, 6 5  

+  1 2, 8 4  + 4 7 5, 2   

= 1 1 3, 3 8  = 4 7 8, 8 5  

              

  2 6, 2     3 9    

 + 1 5     + 3 9, 3   

 + 3 2, 0 1   +  3, 9 3  

 = 7 3, 2 1   = 8 2, 2 3  

              

  1 5, 1 5         

+   1, 5 1 5        

+ 1 5 1, 5          

= 1 6 8, 1 6 5        

              

              

              


